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[Time: 2:30 Hours]

Please check whether you have got the right. qugﬁgpq.pape
N.B: 1. All questions are compulsory. 2 'y
2. Figures to the right indicate full marks
3. Use of only ordinary calculator is allowed. .~

1A Choose the correct alternatives from the following (Attempt any‘r 8] o4 e
1 If the angles of a triangle are in the ration 3:8:9 thendhe:r a‘espectwe degré\eméasuresageq {
1) 27°,72°81° ; : C \
2) 32° 70°78°
3) 24°p4°92°
4) None of these

¥ 2

1) Profit

2) Loss
3) No profit no loss
4) None of these g % SO FORSIS

3 The difference between the nﬁ{kex val g and tl'ie,«ne ,.uiorth dfa hustneSs is its ;
1) Profit : : et
2) Good will
3) ' Loss 3
4) None of theSe:_ .g—' < ‘

4 The difference be’cweefﬁs{implé .'md com:pquna mterest oh an amo’unt at r % p.a. after one year is

1) Zero & ; % :

4) Noneofthesec’ < < A
5 If the pay -of an‘?nmﬁ’tgﬁgte aﬂ équa] and af! fhade over successive periods of time, then it is
‘_1 Umﬁﬁrm annuity 5 ) -

S8 Noneéfﬁas%

&

7 Thé sha;es Wbach are phiclh'd!vudeh : at a rate which is decided by the board of directors of company are

“

knoWn as v& e
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Q2A Two partne;sA-and Bagree'ty

Q2B

Q.P. Code 06554

8 Aload is expressed as a percentage of e
2) NFO SR TLEIF RS
3) NAV B SE IR, -
4) AMC O 25 IS
9 The sub triplicate ratio of 1:64 is IS S AT SR
1) 64:1 S T £ SRS Seasfsa
2) 3193 e P A
3) 1:16
4) 1:4

1) Guarantor
2) Factor
3) Delcredere
4) None of these

28 P
Q.1 B State whether the following statements ar:é trUe?)f‘ faise (attemnf ariy 7) 07
1 Reduction in list price is commlssmrk
2 Cash discount is the reduction g’iveﬁ mthe mVorte\prlc“e fqr qﬂwm : Q
3 The trading of shares done umlﬁg*DMA‘T aceounts thraugh baﬁks : o
4 The EMI increases if the tqml payment:peﬂoﬂ“ is méreased \ SN 3
a Aty o |
5 o= ithen O § \:- g AT 5
6 Afeeleviedonan mvesit atthe m‘ie of purcha&mg units is cailed éxﬁoad
7 Net assets are caIcQTatédf h&ditferénce between totaLassets and !iabllnﬂés ‘of the scheme P
8 A - g 4 | ¢ 1
9 \ 4 s 2
10 § : 2
& L
A '

~dtvide 30% of. total proftt 5 eqﬂally between them and the balance in the ratio 08
3:4.f total grof‘t JSQS 30,000; find. A ’s share-of the profit.

5 L "ber qfltters Waterreqmredto ﬁILa circu!ar tank jointly varies with the square of radius r* and the 07
: tqr\a tank df gsﬁm 3 merers an& dEpth 2 meters the water required is 30 liter. How much water

- |

Q2P &sa}esrhan |s'“pa _ ;a,"ﬁ'xﬂe' “\onfthlyaalary plus @ commission at a certain rate on sales. The salesman received 08
e SR 1,130 aﬂt{;R&. 1,360 as’re tmuneratidm for.two successive months and his sales were Rs. 17,100 and
" Res 21 700 re\speﬁt\iﬁl}f Fmg‘thz _ftxed mbnthly salary and the rate of commission

: .'Q.; 0.-" A manufagtur:ér m‘gkes a proﬁt@f-25% on cost after allowing a trade discount of 20% if the cost of 07 :

fa '-Q‘mhtg ms‘téésﬂs bv 1’2 '—% by how much percent should he reduce the trade discount if he wants to

A 3! O. 3 A “Sahtl wmpay ikam‘ﬂc«';s,om after 2 yrs and he will pay shubhash Rs 32,000 after 3 yrs. Find the total 08

pregﬁnt w&rth ofhélh*p&yments If the interest rate is 8% p.a. compounded annually.
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Hiren bought a Honda active scooter by paying a cash of Rs. 10,000 and the remamfng amount la‘4aqual O
quarterly installments of Rs. 11,000 each. If company wants to get 12% rat!of intere _
value of the scooter. ‘ e

OR S : ﬁ-
The simple and compound interest for 2 years on the same prmclnal Aﬂhe séfﬁle rata ar‘e Rs«?,zﬂﬁ‘and e 0"‘85 s Oy
Rs. 7,622 respectively. Find the principle and the rate of mter:&t i A 3
Ridhima takes a loan of Rs. 80,000 from a person for a perra&gf 10 manths ilf"om;:mie the £MI at 123&p._a. on 07 -
reducing balance. LF IR : " e

Laila invested Rs. 12, 00,000 in a MF on 20™ March, 2ﬁ11 WIth NAV\bf 145 6 Sh&redéemed allunits on 9“‘ 08
Oct 2011 and received 2.5% rate of return If there was no ent‘ryioad or. exist toad flnd NAV an date ﬁ?
Redemption. 0! AL S IS & S s
Ron got 260 shares of face value Rs. 10 each.. c;“had to paytntalamepht bf BS : 99 390 4 tﬁ coMbte the 07
transaction 0.8% brokerage. Find the market f.moé quach shhtés. g :_; T A X
QH‘ < & A
Naksh invested Rs. 60,000 on 10" Ma 2011 when NAV wss 18 75 wﬁk&entm Iqad of f2. 25% calculate value 08
of his investments on date of purchaseahd number of um’ts. Alsn find its valua om‘!ﬂ"’ Seiﬁernber 2011 when
NAV was 22.8 el SO 5 '
Find the market value of 12% share LfRs. 6, 400were mvested Io Rﬁrchaﬁe sha‘re wath a face value of Rs. 100 07
and a total dividend of Rs. 48&Wa;obtamed.; ' e L

S 08
07

Define annuity write typesp'l gﬁ“ nuity. . PR ORS
Distinguish between shares "hd*rmltua} f‘unds VA
Write short notes@,n awshroé af the, followmg o 2 SIS 15
Loads on mutua n@ts:f_f?* AR IR I NS e

Distinguish betweeﬁrﬂuo andb,cpgamon e PR SO

Describe direct an fﬁdlrectvanatlon Y D R N

Define; gommiswn ‘agent, a del credere agent and an auctmneer

Explam slrscoyht{tr&dg'distoum and cash dlscount .
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[Time: 2 */2 Hours]

Please check whether you have got the right quesﬁun paper_, o
N.B: 1. All questions are compulsory. 3
2. All questions carry 15 marks each.

A Say whether True or False (Any 8)

a) An agreement enforceable by law is a contract. " : : ;

b) Executory contract is one in which both parties havé pen‘o:med t‘heir?espe&we ohilgatlcm,

c) Acceptance can be given after the offer is withdrawa r re\mked = A NP :

d) Every agreement of which the consideration js. unlawfu i6 vahct , :

e) Breach of contract means performing the obllgatlons Wthh, the contract m'\poses.

f) A condition is a stipulation essential is the}nmn purpose Qf a contracr, thebreach of whnch gwes rise
to Repudiation Ll NI :

g) All Cheques are bills of exchange oD 8 A v & ¥ %

h) A consumer is a person who buys an?gbads wufhout a conslderétlon P e A 20 Y

i) Open or uncrossed Cheque can bg direcﬂy pr“esented tcfthé Brawee Banker for pa\]ment across the

counter -~ S
i '
third persons.
8 Match the following (Any 7) 4 < 07
Column A e 3 “Cglumq“-B
a) Contract by mmor : 1o 2 a) Let the huyer heWare
b) Undue Influence -~ 0 2) Tripartite agreement
c) Jusinrem K& 3) Termmatrhn of contractual relations
o .7 between parties
d) Caveat Emﬂtqr "8 4) 1nsufﬂc:ency of funds
e) Dlscharge of cheque~ ST T Sl Right agamst whole world.
WY Yo A ey e 5
f) "D_‘Lsho_npr of cheq‘-ue‘-"ﬁ_;«-_'..;“j N 6] Rught to regain possession of goods.
g) Contractofguarantee ,\ 17 Bills of exchange cheque.
“h) Stoppage in- translb" SR ol 'v_" “~8) Void-ab-initio
" o) Negetséble ﬁstruments ‘oo [ 47 9) One person dominates will of another
_‘j) Contracf of sale U e Cvae B 10) Property in goods s transferred to buyers
CA Defme contract dlstmguish between agreement and contract. 08
B Define free ‘consent Expfam \mth examples sontract under 07
1) Caercion g OEEE o
|l) . Undue mﬂuenc‘e G L e
i) Fraud» S A X ol
OR
IC. Deﬂne Cbnslderatmh Wh‘at aré the essentlal requirements of a consideration? 08
D Def‘ ine prmupal and Agent Wnte @ note on creation of agency. 07
LA D:stmguush between sa!e and Hire purchase agreement 08
B erte a note On formahties‘of contract of sale under the sale of goods Act 1930. 07
TS (P.T.0)
1
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Q.3 C Write a note right and duties of the buyer under sale of Goods Act 1930
D Write a note on procedure and ruler of Auction sales

Q.4 A What are negotiable instruments? What are their special characterlstjts :
B Define and explain the essential elements of bill of exchange. AV

OR ol

Q.4 C Distinguish between Promissory Note and Bill of Exchange.

consumer under the purview of the Act? S
B What is a service under purview of the consumer prétebt‘ |
and ‘contract for service’

Q.5 C Write short notes on any three:
i) Void and Voidable Agreements.

ii) Unfair trade Practice.
iii) Contract of guarantee.
iv) Law of indemnity.

v) Essentials of Bailment.
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[Time: 2l Hours]

Q.P. Code 106609

Please check whether you have got the right questtOn paper

N.B: 1. All questions carry 15 marks each

2. Q.1iscompulsory and Q.2 to Q.5 have Internal chonce f

3.  Use of simple calculator is allowed
4. Working notes are part of answers

L e Mg

State whether the following statements are true or false (any 8)

A dealer who has opted for a composition scheme is not elrglble to clalm set-nff m respect of the concerned

goods.

-~ [Marks:75)

08

Turnover of non-taxable purchase is not |mportant for decndmg whether a person is: hable for reglstrataon

under MVAT 2002.

The composition amount for an eligible Baker i5.6% of the flrst 50 lakhs of specuﬂed turnover of sales in the

case of registered dealer.
VAT is a single point tax.

NN

To avail set-off the dealer has to maintam thronoioglcal record of all the saies of goods made by him.

An importer is liable for registration under MVAT 2002, only if his imports exceed Rs.-100000.
An importer is liable for registration under MVAT 2002 onlyif his exports exceed Rs 10000.

In case of composition scheme a'dealer. shall be consrdered to be engaged in the business of selling at retail if
50% of his turnover of sales consusts of sale made to persons who are not dealers.

Sale of scrap is not treated, as a busthess transaction for the purpose of VAT.

Immovable propertv such as Iand, bu:ldlng are not "goods as deﬂnes under MVAT 2002.

Match the followmg (any D

ColumnB

“Column’ A DAY S
1)Deposit for vbiuhtary reglstration a. ‘Rs.1000
2) Tax audit if turnover of sa_les,,egggeeds - ~'b. Rs.2000
3) Penalty for filling incorrect return .- €. Rs.25000
4) Penalty for failure to file return - 5 d. Rs. 5000
|'5) Penalty for wrongful collection of tax e. Rs.6000000
“6)State government can IeV\r ats f. Excluded from excise duty
. |.7)Sales subject to MVAT } ¢ g. Sale within Maharashtra
| 8) Goods manufactured by qmts in SEZ : h. 5%
9) Schedule C O S i. MTR6
10) VAT paymeht 4 : j- Sale within Goa, Damman
g ) ' ¢ \ i D ¥ and Dieu
DG F G k. VAT
v l. Rs.1crore
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2 A. From the following information of Mr. A regardin
is liable for MVAT as per MVAT Act 2002.

Q.P. Cod.e;';06_6091:;\":"' -

DRI S S B

5 B e

Particular Details of purchase , D A o
Tax free goods | Taxable goods Téi-free_‘go:zﬁ ‘| Taxable goods |~

April 2014 to Nov 2014 40,000 4,000 { = 750,000 RS

December 2014 60,000 _“%4,000 |- o< 70,000, ;

January 2015 30,000 3,000 ] -~ .<"-30,000 |~ 8,000

February 2015 40,000 O AV of 50,000 |- =" ~30,000 |

March 2015 70,000 ~-20,000.} -~ 1,00,000- -~ -40,000.}

+2 B The detail of purchased and sales of Mr. ‘lf!fata'pdyring the financial wy\e_:gr aNr.e:give"rrl_ bé‘l__o'\gv.;."-_. : _

L2.

Ascertain whether he is liable for payment of sales tax?

~OR .

Particular - Purchase : DL . -Sales
Within | .From outside " Totald’ &' PO
Maharashtra | ‘Maharashtra | <~ o foal Ao )
Taxable goods 26,000 1/ £ 16,0002 0 42000 1 o 52,000
Tax free goods 24,000 | 14,000 | - . 38,000 50,000
Total " 50,000 |- 30,000 { /80,000 |-~ - 1,02,000

Mr. A a re-seller ahdfegi_stéréd\_d_ealef fui‘.hishes th'e following iinfgairmation for June 2015

You are required to calculate the tax fiability under MVAT act 2002.

DS AV O Partictlar & S S Rs
| 1)sales (excluding Tax): . -
| Schedule’ Agoods ™ = -~ 50,000
" |Schedule C goods .~ -~ 5,00,000
Schedule E goods - - 18,00,000
_Export sales ~schedules £ goods 20,00,000
irchase (excluding Tax):
| Schedule A goods 30,000
By, -Sc;hedule'cm.ﬁ ' 3,00,000
| Schedule E goods - 16,00,000
. | Purchase from unregistered dealer- schedule C 1,50,000
£ N@00de S O
© | Purchase outside Maharashtra 3,50,000
:{ 3) local sales return( excluding tax):
| Schedule E'goods 2,00,000
-4) opening balance(cr. Bal) in VAT credit receivable 2,000
'|“account
& S);tai_c\-rate for goods under schedule A=nil, schedule
€=5% schedule E=12.5%

21B78D2F7E4B051D23199DFD41D07E0A
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3 A Prepare a statement of computation of tax for the month of may 2016 to be pald uqder the provsslon of

8.

—F 5

MVAT 2002.

1) During the month of dealer utilized schedule C goods costmg Rs 2 00 000 (mcluded in purchase above) as

fuel.

~Q.P. Code 06609

Particular Amount
Sales: D g S
Schedule C goods 15,00,000 | ol
Schedule A goods "2'0'0;000' SN : S
Schedule E goods - 10, 00,000 |~ -
Purchase: ke R S
Schedule C goods 5 00 000' g
Schedule A goods £ 50,000 -

Schedule E goods -j' ) 8 00,000 | .

2) Amount debited to P&L account for mater?al is Rs 25000 on which MVAT paid is Rs, 1000 @4% ;

3) Amount debited to P& L account for mgterial is Rs. 10000 on which MVAT paid Rs. 400 @4%
B Mr. Surendra a retailer provides you the followinglnformation e ; :

There are no OMS pur{‘:hase

4,50,000 |

Pal‘ticular e Amount O
Gpem stock: ‘1,004000 e
- Purchase. {sshbdule C) 3
+ .| PurchasesURD- -~ [ > ' 60,000
- [ Carriage inward 710,000 -
2" .| General expens‘es ‘ 2,500
O Salesd L - 17,50,000
W ‘Ciofinghtﬁck S 87,500

1) State the prowsloh of. composmon scheme fora retaller? :
2) Can the Mr; surendra opt for the cbmpositlon scheme? :
3) Calcuiate the am0unt of MVAT llabllity : :

07

Mr Dmesh is a dealerﬁr;d out from whlch month he ss hable for registration under MVAT from the following 15

tnformatlon
Month (2015) 'l‘axable o5 Tax-free. Taxable sales Tax free Sales

N § ﬁurchase D purt.hase (oms)
,-"June 25 18,0007 3 1,23,000 3,000 17,000
S/l S S FIH000.4 1,32,000 2,500 19000
o cAugust | < 712,000 1,17,000 3,000 20000
_“September {- = ' 11,000 1,12,000 4,000 3,000
~_~October’|" ~ " 719,000 1,05,000 3,000 5,000
“ November | <"~ - 20,000 1,35,000 4,000 3,000
- < December:|{ . - -27,000 1,52,000 3,000 2,500

3

21B78D2F7E4B051D23199DFD41D07E0A



1)
2)

- 3)

i

4)
5)
6)
7)

Q

Determine from which month Lalit who started business in June 2016 is Ilabla fo regtstratlon under MVAT 08h'_-

act give reason:

Q.. Code' 06609.};-

32,000

“\:-'27,500‘ SRV

¥ o~
a-‘ ko
A

N \‘

LY i 8

Explain with reason whether the following persons af:e dEaler under MVAT Act\ZODZ

Auctioner
Society
Railway
Agriculturalist

Customs department
Non resident dealer
Educational institution

Sales:-

& .‘\‘ N

Compute VAT liability usmgthé follo“gjngdata NS

Month

S&ledule C

Scﬁé‘d’uie E ia

N sehﬂdu'%A & i j“-x

21B78D2F7E4B051D23199DFD41D07E0A

April2016 o {0 0 SS000 1 7000 8,000
May2016 |5 .5 25000 0 < zsom* 32,000
June 20165 < SV 5 18,0007 ~ 12,000 |- 15,000
July 2008 = 2 O L _;:*Qz;gda 16,000 ' 128,000
Salesreturii == .~ D PN - S S SN
Month “S:hedu[aA | Schedule ¢ Schedule E
{:Aprib2016 - - | ¢ 100 22 /500 600
T BMIYI0IEY P P T R0 ‘Fisa : 600 800
Jun‘e’z‘oﬁ““ i-‘»; 3, 50D 300 400
[ July 2016 iso T 400 600
. -Purc B 5 S Ll
- April mitisdudmec goods~_,~ 3500
May 2015 schedule € goods .~ /20000
- June 20165ﬂldpleEgoods;f' O 23725000
: -Julvzﬂr\GSgheduthaods LS 15000
4

Month Local purchase Purchase from Rajasthan Sh!es inside state“ D T
Taxable | Taxfree | Taxable Rs. | Tax free .5,5 3 .Ia_xaiglé_{ﬂs.._,.,Tax,frge;‘ﬁs' j
e . SEIS SRR SRS
June 2016 2,000 | 25,000 32,600 | <12,000 4 ",;,ooo PN
July 2016 1,000 | 32,000 65,000 | 40,000 |- > 3,000 | - 30,000
August 2016 1,500 | 45,000 89,000 | . . 68,000 . 2,000 |-
September2016 3,000 | 60,200 1,02,900,«":.-‘-*‘48,000. 5 012,000 |
October 2016 1,000 | 72,000 1,52,000 | - - 95-,000__- j <0 .3,500-] 35,000

07

08



. You are required to com

‘D M/s Mustak and Co furnishes the following data

under MVAT Act 2002.

-3

|2
~|o
&1%
= |
o
e
]

,000
6,25,000 | 15,00,000

5,

Month

Ocotber 2016

November 2016
December 2016

S}

ﬂt\" '

A Describe the procedure for registration under

erthe:

the Conditions for Registration und

in

B Expla

| Write short note on (any 3)
-1 Composition scheme for works cont

2 Define Goods under MVAT Act,2

o]
SN

u

gg X
e i
wAJN\,_\V

;‘.'
v

“

Yo%

5.

S

3 Provision for levy of interest under

ision under MVA

4 Penalty prov
5 Taxaudit under MVAT Act

|
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[Time: 2.30 Hours]

Please check whether you have got the rlght questhn papar R
N.B: 1. All Questions are compulsory.
2. Figures to the right indicate full marks

A Select the correct alternative and re-write the statement (any elght J&s e -",;/ & 08
1) The term Audit is derived from ------ language: Llatl.n g@:eaﬂ SINSIETS) s vy 2
2) ---is a systematic examination of books apd reoords ofa a buswiess 1{ aUthing, veggh:fr'g)‘ SO
3) Working papers are the property of the\--—:‘( aud:ter manaéan’mnt § Y
4) Standard on audit - deals with Audit n!anrimg 4300 500 ) itk
5) Audit technique of ----- means a fofma‘l muirv fromhutsqders fconﬁrmgﬁbn ,\inspempn )
6) Trial balance of the current year mu be flleqsm( T‘dﬂdﬁ ﬂh {cu _geﬁt' fparmanent )
7) Division of work is an integral _panf of 2o~ cheqk (-iuté'nﬁat\ tes.t) Iy :
8) The smaller the tolerable e@n( ;wmne the sampte s¢ze. {;gr%er smaller) %
) J— means plans and potlcésadonted by the n‘janageme‘n{ofa GDnCerh to é‘nsUre orderly and
efficient conduct of its hﬁslne:ss {]n&rnal tontmj in}emal audrt )- 3
10) ------ checking meansmhetld’ng qf‘a:ﬁhmet’ieal acr;uraqp ufbooks m‘f Onginﬂ entry and ledgers
(routine , samplinﬂ TSNS ‘

P State whether the followingitqteﬁiehtg aré True of False ahd reuwrlte the ‘statement ( any seven) 07
I 1. Cash embezzlﬁgf from ca’shhbk lsatype of frand. o
2. Pocketing ﬁf,st :E;El;ft frbm partv X‘ and showlng second rece:pt from party Y as received from

i Party X ls:knéwn arteemlng and Iaamg SR
‘ 3. Sales blli of' R lﬂOO Gn Ms Pso;a 3 accbunt 15 postqd on Ms Pula s account is an error of
commt&hoﬁ\' i~ ; S

4. Fifala u&bhw@ériwagaualt is one afid the same
énnauderar should state the | reasons s for-disclaimer opmlon
By\agﬁqeouﬁﬂhg\i\andarﬁ 5 treats a bnoh period'item as a material item.
Aumsamghng m’eanﬂppk;amon of : audrr procedure to less than 100% of item of an account.
o B ‘Wntefmﬁ]“ qadﬂ is gﬁ‘mpulsory for. evervhsted company.
"', é Lt ﬁudgt‘@:has ﬂght dﬂEn on corres;:ondence done with tax department.
IO «;A:udlt yfogrammq ges. not ensure repetutlon of work.

08
07

08
07
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[Time: 2 Hours]

please check whether you have got the right queé‘.t‘[on papEr it i g
N.B: 1. Allquestionsare compulsory but subject to internat ChQiCE L S
2. Figure to the right indicates full marks. ) et T & :

Ty :‘\' %

P

o

1 A) State whether following statements are true or false. (Any 8] < Bogs o2 :
| 1) Under Single Entry system, only cash and personal accounts are"rhéintaihed.
2) Consignment is not Sale. -
3) Balance in Goods Sent to Branch Account is. transfer to dehﬁ of trarﬂng acccunt
4) Memorandum Trading Account is always prepared for-1 year pérmd
5) Under the Conversion Method of Sing%e ent?v,credit pu rchases are ascertamea hy,prebaﬂng the
total creditors account. N e
6) Consignee can return the unsold ggnds“’td"tbe Cons;ghor ~
7) Depreciation on branch fixed asset is dehifed tG‘onanch atcodﬁtxunder Debtor\system
8) Abnormal goods are fast moving guod&. 3
9) If the consignee gets Del Credere cbmrmssion, the. conslgnee wﬂl bear the bad debts

10) Branch stock account is atways prepal'éd at cost pnce o gl
B) Match the column: (Any7) LTl a S : 1 (07)
COLUMNA Pk L Tl QLUMNB
1., Average Clauspi”' R I T s A Appﬂes ;ncaS&bf over insurance
2. Creditsales o e S D _ B Apphes in‘tase of under insurance
3. Opening bafaﬂcgsheet TEEISER ANE Total debtors account
4. Profit 20%onsaless & ot ke "D, Tatal creditors account
5. Profit2o% onsales - i SR A Opening capital
6. Re[ambatwee:t{oﬂsenbr and Consigee " F. Profit 25% on Cost
7. DelCredereCommission . = G. Profit 33.33% on cost
s(a.‘.sr'ﬁ eentrysystem o o 7 [ M. Principal and agent
"9, Expens ;‘mm@@@em et L "1._Borne by the consignor
[f 30 Deﬁehdm@hﬁnth S, e X e ) Stock and debtors system
AP R o S o o K. Borne by consignee
1+ 'f"\.;:;“;" SRy ‘”';«*"‘;. R T L. No proper books of account
g T s R o T A M. Extra commission for recovery from
Gl P S R S A l customer.

Mr. QVaques no‘t mauntmﬁprpper b00ks of account and from the given information prepare Tradingand (15)
P&I a‘cnbun‘t fnrthé year erﬁled 31 March '2012and Balance sheet on 31 March 2012.

stset:;Q o ..;-,':fg.{'-:ff- 01/04/2011 (Rs.) | 31/03/2012 Rs) |
3% lant_\&Mach‘meW\ P e e T 1,00,000 ? B
> ST o 65,000 ?

< ek S EE S & o 36,240
‘"'Beh’t"aféﬂi ‘,T.‘f‘:f" SR 1,43,520
2 Qd[tbrs ‘ f"‘ .‘-‘ '»;'.ﬁ ;\._‘
: Cashand&égh
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Q2

e ———

:l A 8 ’Qp Code osszsj_'.:--_":._;_

* o e

|
Analysis of cash transaction for the year:- uly o Moh?ni
= Sl e , consign

ﬁarticular B o, Amouﬂt (RS}.‘ 5  grossP
Cash sales S o 2,5[)00 =0 wareh
Cash received from debtors £ Qe T S 6,9038@"_‘{.‘ e | Prepal
Cash paid to creditors ol AW g K 490‘;59 SR | of con
Wages paid :'—fi-'-,j SQ s S ey kg 32 560> . e Raj a8
Salary paid I Kdonpou L = 44,380 - beg
Printing and stationary paid ey _' SR s 2 12 360 expe!
Machinery purchased on 01/10/2011 et i L S TR AR 56,000 B

Additional capital introduced : - 135,000 %
Commission received 152,600,
Cash purchases al | 42,150
Expenses paid Saiady ';r} _-‘3:9}50

1) Discount allowed Rs.2,650 afa‘d Discouhtﬁafned Rs 2 530 an& baddebts wﬁtten off Rs. 4,120.
2) Depreciation to be provided on furmture @10% and on’ machingrv»@lﬁ%
3) Wages outstandmg Rs. 5509 s ;

Mr. Aaryan, a retailer, does nnt keep ariy botsk; of accouhts but does operate a busmess bank account. A |
summary of the bank stamments forthe yegr en‘?.ied 31 3-2613 is gwen beiaw

i A, 4
s o

Receipts N ‘Amount lBs)_J Pavmerﬁs S AN Amount (Rs.I‘
Opening Balance .~ - 1-8,980° - |cash paxd to Creditors 74,500
Cash recewegtfrombeb“tqrs-;”’ S "97000 |-Salaries . 11,000
Closing Balahce \ {4420 T ‘R.ent,_' s 3,600
T | General Expenses 7,000

(s ~ | Advertisement 600

S PGSR Aoital | Drawing 10,000

1,06,700 |

3132012 (Rs) | 31-3-2013 (Rs) | 4
20,800 20,800
10,480 12,600
13,000 13,600
600 1,200
Sl En o o g 2 | 9,200 9,400
-'..,Outstand -a,gvgm;e,maa:mil;;‘- 200 300

'A"‘f s ‘-"

fN‘-:leed assets shbuid be eha‘r&edﬁeprematlon at 10%.

"'geqm:ed to p:gpafe the '[radii‘\g and Profit & Loss Account of Mr.Aaryan for the year ended 31-3-2013 and a
S @s at ‘Qhat‘dat’e
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15)

N

Q3  Mohanji & Co.Of Jaipur consigned 50 bundles of goods at Rs.200 each to S"hyar'n]; & Co. of Pune. The -

Q.P. Code 06828 S

o,

consignor pays Rs.200 for insurance and for freight Rs.300. Shyamji sends an-accounts Sales shéw:qg the
gross proceeds at Rs.24,000. The expenses paid by Shyamiji, travelling Rs ZDD carriage Rs. 500 and _
warehouse expense Rs. 130. He sends the amount due to consignor aftgr deductmg 4%- commlssmn

Prepare: - Consignment Account, Shyamiji’s Account and Goods Sent on Cbnsignmerrt Account m the books '
of consignor. ST gt

<

Qi &
R 4.5 2L
0 -

expenses, which are met by the branch. From the Jhee

Following particular prepare Branch account in the books of Head Offrcé n ‘-. &l

Q.3  Raj agency is having a branch in Mumbai. Goods are invoiced' to braanal 25% proﬂt on saia Branchhas
; been instructed to send all cash daily to Head Office. All expenses are pald by head afflce except petty cash

: .Amount Rs.

Particular S0 O A T A NS o A
Stocks as on 01/04/2013(Invoice Price) =~ > o o o o oo w0 o 4906,000
Cash in hand as on 01/04/2013 ey : P A ot ,1710,000
Sundry debtors as on 01/04/2013 . - o o X o 4-2,50,000
Office furniture as on 01/04/2013 - . & = o ) 40,000
Goods invoiced from HO(Invoice Price}) .~ S 18,00,000
Goods return to HO (Invoice Price) .~ - 60,000
Goods returned by debtors- <= 12,500
Cash received from debtdrs ' 6,50,000
Cash sales & ; G & : 12,00,000
Credits sales Rl SRR 7,00,000
Discount allowed ik gl 3 ki 3,000
ST T E TS 40,000
Staffweif;ge S e o P ) o oL 7,500
Telephone-ekpenses R gl : e 40,000
Other petty Expenses paid by branch 7,000
stodias on Bllﬂyzmﬂat Invmce prlce) 3,50,000

Depféc:attdnto be pro‘ "ded on furmture ©10% p. a

_"\. btk ‘\

Q. 4 = Mg A'pr,ﬂpares aCcoums\pn 30‘" September each year, but on 31* December, 2013 fire destroyed the

al‘eater parrofsmck FoﬂaMng infnrmatwn was collected from the books:

Paftmulqr A S S NG Amount Rs.
02| Stock-as oq~m‘1§}2013 S 2,97,000
"= | Purchase from 01.10; 29I3m 31, 12:2013 7,50,000
R *_‘j_\g?ges from 01.10; 2q1‘33ta 31,12.2013 3,30,000
P eﬁfrom 01: 1&2913 tq 342 2013 14,00,000

’me faté\ofgtogs pl‘Oflf is 33‘ 32% on cost. Stock to the value of Rs.30, 000 was salvaged. Insurance policy

wés for RSs?. 50 000 and clalm was subjected to average clause.
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Q.4

Q5A)

Q.5

B)

Q.P.Code :06828 - * o
Additional information: A f;-- 1 oD
1) Stockin the beginning was calculated at 10% less than cost. A ARG S LA TG
2) A plant was installed by firm’s own worker. He was paid Rs.5, 000, whlch was induded irw.(ages &
3) Purchase include the purchases of the plant for Rs.50, 000. -;f" 7 Lrse P g
You are required to calculate the claim for the loss of stock, \& S 20 Q oy j o3 A
Find out the amount of claim to be lodged with i insurance compqﬂy from the foﬂowmg mformation- - (15
o, ! :
Particular 2011 Rs. 2(112__ Rs. 2013 Rs 0110112014 up
AR RO T PR e :mhédate of |
'_‘ - \ AT 4 ol \'J'_-‘:- 'ﬁl’-ﬂ. il
Opening stock " 15‘3906 o/ g% I e '
Purchases Less- Return {250,000 | 75,Q00 ‘:?.94090 s GO obo
Sales less- Return o 160,000 80,000 - 11,30,000 | 84,000 -
Wages Y oLFe00r < 5.6900{‘::7-". 6,000 - |4,000 t
| Closing Stock ‘ 2oioo_g* % '40‘,5&007 5 -.spjabii SR S Y
During the year 2013 closing stocklhﬂuded goods purchaﬁed‘ hu’gnot recorﬁed Rsfs 000 The salvaged stock
was valued at Rs.9, 000. The ameunt of pouw ‘was’ Rs. 34, 000 There was an average clause in the policy.
The firm closes its books on 31=’*Detemb§r every year ‘ : 0
Distinguish between Dehtqns method and Stock & Debtors method (08)
Explain the features ofﬁonsig'nment Peadir) PR3 GRS gL (07)
S : S RS SC S
Write a short not&on“{m 3’) A e < (15)
A) Depen,gé'ntwmch SR
B) AverageClause ™. & . Pt I
Q) Del"@édeistpmmsmﬁ SR % 1)
D) Conversion method = .
E) Stock R'serve Acwunt 30
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g

[Time: 2 1/, Hours]
Please check whether you have got the rlght-

N.B: 1. All questions are compulsory
2. Figures to the right indicate full marks.

iii)

(Fu ental, Natural, Religious) : o
iv) Human rights have applicatioq‘ Lo
(Limited, Universal , Maximum) ) AT

v) The is a layer of gases surroun “-)
(Hydrosphere, Biosphere, At g} i-: SO &
vi) Acid rain is one of the harmful efﬁ"qts of ;2, poﬂl&t on. i
(pdF, Land, Water) SRR 1\
vii) means pre—;udgerrtmp' R ‘_;‘*j"-“.\-‘_ﬁ;‘x? '~
(Violence, Stereotypes, P“raiggﬁq}‘ i AP O
viii) arises when gdalxltraci  behavior is blocke:
{Anger, stress, ’ustratnon) R ¥ S
(07) ix) helps to develob the pow,er éf a:oncerltratm
(Meditgtion, socmlSUppprt,physacalexerc:se)
ﬂ (15) x) The e
1) State whejcher the‘fqﬂowlngm‘atemenfsare True 0[ FaIse*(ahyﬂ?) 07
i) Forc&dwmgrét:bn-may also be satled as. force\:rdrsplaeement
ii) T has made rommunrga*tlon\eogp%nswe and’cqmﬂlex
¢ iii) Freedom of speech and, | expression may also thude defamatlon >

iv) .The fundameniai»ngnts areabsojute’ .~ k>
v)  Natural enviroﬁmept pPQvicle“s ¢énewable %ources of energy
M) “The cqmposstmn of envirqnment is ’che Sameevarywhere
i) ﬁegmrlﬂlsm is meaniv@ausenﬁaggressMn and violence
v} Ty yp&ﬁ pefsohahtvyengraliv engagésiln instrumentat aggression
“ix) Smbbth{ng rafar&ta a\ccpmquaﬂ' other party’s interest
o x) Wm»wm strategy»is to, so}ve a probhem ﬁnd not to shift the blame an other

15

15

(P.T.0)
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5. Enumerate on strategies for coping

>

Write short notes on (any 03)
ATEDBFDBS8F77D41 653550F33A02269F9

Right to freedom of religion
Types of Ecosystem

Liberalization
Significance of values
Coping with stress

— w—
—

iii.
iv.
V.

s
z
[}
(%]
(7]
Y =
rov]
a
=
2
=]

4. What are the agents of socialization?




